H & 0l & AHS B Ml A

A HSAIEW
¥ Msodet PR (SR 22/H=)
=Rl MSAlE #F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEMS 21,036,986 16,423,297 4,613,689
N 454,000
Jl 1,411,126
= 1,336,540
Al 17,790,320
= 45,000
HEolZet A=5(2 L 2F/W=) 20,220,313 16,476,295 4,744,018
N 454,000
Il 1,411,126
== 1,336,540
Al 16,973,647
= 45,000
HEAE &S 12,420,792 8,544,086 3,876,706
N 454,000
Il 660,000
s 1,020,000
Al 10,286,792
SSH=EAE 2 1,030,000 970,000 60,000
401 AIEHIZ SR HYI 1,030,000 970,000 60,000
01 Al&HI 1,026,535 966,040 60,495
O=33M=AE |FRANES
4,000,000 *30H 2= 120,000
ONOIEEE RANE=
3,000,000 *200H 2 60,000
OANEI2SE SaAAE ZHIALE
300,000,000 *14] 300,000
OMEEXIL 1HA MIESEE ZHAY
550,000,000 *141%99.37/100 546,535
03 A2 THYI 3,465 3,960 A495
ONEEXI2 Diax A=Y ZLEAY
550,000,0002 x141%0.63/100 3,465
SUMSAE 2S 199,680 178,800 20,880
201 fer= 3| 19,680 13,800 5,880
02 s3=gHl 19,680 13,800 5,880
O8RE &= 590,000 * 122 7,080
OMEEX MEANE JJIR3
1,050,000& «12& 12,600
401 AlEHIZ S 0HbI 180,000 165,000 15,000
01 Al&H| 180,000 165,000 15,000
OsUMEAIE 231+ £X
4,000,000 *209H £ 80,000
OSUMEAIE =% 2317 1A
4,000,000 * 1004 2~ 40,000
OsSUH=EAIE 2301+ 2+
200,000& »2003 40,000




2A: MSHED
M HsZe AE(2IL2E/H=)
Rl HSAE &S EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O0lAHH AOIEEE & 25)|7 &X(F2
Z010fl ) 20,000,000 & 14| 20,000
I=A AU E 29 2,672,392 2,060,027 612,365
101 @l H| 994,860 879,643 115,217
M I1RIMZ2Z2XSE 994,860 879,643 115,217
Oallf=ZE FAR 2R 73,783
=J22 80,2403 +2H 260 41,725
—=F5= 80,2403 x2H x52 8,345
—HYsy
80,2403 1. 58 x2H x642 *0.875 13,481
—AZtelaRsy
10,0302 x 1Al 2k+1. 581 x2ZH +2602 7,824
—HHRERINY
80,2403 x2H » 15 2,408
OH& el 104,806
=Jl2= 80,2402 »3% 260 62,588
—FgH 80,2403 «3H x52 12,518
—HYsy
80,2403 *1.58+*3H x6420.875 20,221
— AR RRAY
10,0303 *0.5A| 2«1, 581 x3% 260 5,868
—REaF =Y
80,2403 *3F x 15 3,611
Ot A 212 228,155
=Jl=3 86,8302 »6 % 2602 135,533
-5 86,880 x6 2 x52 27,107
—fasg
86,8303 1.5 x6% x642 »0.875 43,788
— Azt 28
10,8602 %0, 5A1 2+ 1. 581 x6H x260 12,707
— R aFII=Y
86,880 x6 & 15 7,820
SR QHETR| MAT) S
100,000& x1H + 122 1,200
ONMSXE=XH(+=E 8%, A 49) o2 509,859
=Jl=3 97,3602 * 12 x2602 303,764
-5 97,3002 12 x52 60,753
—FBYay
97,360& * 12 *1. 58 642 0. 875 98,139
— AR DAY
12, 17702 x12% 0. 5A| 2t+1 561 +260! 28,478
— R aFII=Y
97,3602 x 124 x 15 17,525
SR QHETR| MAT S
100,000& x1H + 122 1,200
OMU+8E 2Hed X2
3,402,470& »23H 78,257




A HsdSH
M YR oel AR(SSH2E/HR)
A =

Rl HSAE &S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 893,732 866,484 27,248
01 At2teltl 93,900 96,300 A2,400
OZE= M 2,000& 2,500 5,000
o 29 8% 2y
25,000,000 *14] 25,000
OUU+EE 428 72
1,300,000& x12& 15,600
OZ A 3,000,000& *14] 3,000
Od=JI 40,0002 «11CH*12E 5,280
Osty 4
35,0002 #1301~ 128 5,460
OXEIHE =25 =58
1,300,000& «12& 15,600
OAMU+2E sl@3lc 7Y
3,000 *2,0000HK 6,000
Ogaz wag
300,000 58 A 1,500
O=284d B31% 150,000& * 122 1,800
O=x4 B7E
500,000 *4NIE 2,000
OR4ZE +32
70,0003 »22|x20H A 280
O&Jl € JIHEH 228 7
1,000,000 22 2,000
OB7 & B3 2
500,000 42| 2,000
O49X ®AJ| ZE 2
60,0002 x4 x123] 2,880
OJIZtHZ2X & HE HERE A==€
100,000 +5& 500
2 52434l 799,832 770,184
O33e2= 609,300
—dIIeS 13,500,0002 x 12& 162,000
—aot=k 2= 15,500,000& «12& 186,000
—tAR=s 865,000 x252 «12& 259,500
—Ste= 150,000& « 12& 1,800
O&IINE =
1,000,0002 * 12& 12,000
OsdIIANE =Al2el T
200,000 * 122 2,400
OAZAE S
450,000& 102l 4,500
OAZAE SedeEd
2,000,000& %12 2,000
O2gAE H3)IsEL
2,000,000& %12 2,000




2A: Msas
M HsZe AE(2IL2E/H=)
Rl HSAE &S EEREE
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O IIE JIASE =2
1,000,000 *13] 1,000
OfIMESZ FXl2el
400,000& *12& 4,800
Oalli=gd HIIANE RAIEx
1,000,000& * 102! 10,000
Oall=Z & JIHANE B2+
1,500,000& 103 15,000
O3 E A5 500,000& =123 6,000
OCCTV & X HXl2teltl
2,000,000 42| 8,000
OREYSE AIBZ2
20,000& =220+ 12& 5,280
O=HelAA8 S A4Sl
1,000,000& =123 12,000
OFgel A=t 4,000,000 »23| 8,000
OdU=g% 283 A
1,500,000 23] 3,000
OM+ST HAES
50,000,000 14| 50,000
O&U==ZE oA A A
120,000 *45CH 5,400
Oallf+=ZE SHIOIX #XI2=+
350,000 <12 4,200
OSegsdae] & HOIE2eAMAE SN2
= 9,600
—SE2gACAAE RAES
600,000& = 12& 7,200
—HOIEZEIAIAE X2
200,000 =12 2,400
OHM2E ANE28 HIIUNEZEA =3 9,500
—ZZEH 7,500,000& *13] 7,500
—&J|1&84 2,000,000 *12| 2,000
O 2orME 3| | 50,0003 *12] 50
O3g 2L HIIBN
1,500,000 *3CH 4,500
Obl&gd)| RFR(ER) 7
1,510& %200 £ 302
OgAI|F KAI2eltl
7,000,000 * 14 7,000
OMELY oHE0IZ RXES
2,000,000 23| 4,000
206 =4l 8,000 8,000
01 M=z 8l 8,000 8,000
O%ZP2IE HEEH 2
500,000 *43| 2,000
O+mB2IE STH 7Y
500,000 & *43] 2,000




A HSAIEW
¥ Msodet PR (SR 22/H=)
Rl HSAE &S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O+dpeg A=H(ELE) 7o
500,000 62 3,000
O2gd 8= 228 F2M 7
500,000 22 1,000
301 22N = 150,800 166,400 A15,600
14 JIEt2 8= 150,800 166,400 A15,600
Al T2 2 M= 150,800
—2Jt Az 40,0003 x22|*260 20,800
—2HA SIAE
40,0003 22| x260! 20,800
—20d ZAlg 40,0002 x22|*260 20,800
—=S(IEEY) 2AME
40,0003 *42| x260! 41,600
—OIR 02! ZAI=
60,0002 *32|*260 46,800
401 Al HIZ S OHbI 610,000 125,000 485,000
01 A28l 610,000 125,000 485,000
SXJ| 2H WA 10,000,000& * 14! 10,000
O&U=EE AME | 2= 40,000
—==gF ANELS ] 2=
20,000,000& » 14 20,000
—2AF ME=E RA B
15,000,000 * 14 15,000
—QIHEetHIA)A, ALIA AIEE |A
e 5,000,000 *14 5,000
OXof &M LHYX Mo wi
5,000,000& *14] 5,000
O=gd 2ua)| W
25,000,000 * 14! 25,000
Oalf==gd LHE =4
10,000,000& * 14! 10,000
OogAd IIEl 4X
20,000,000& » 14 20,000
OdU=+gd A% 24| 2|22
500,000,000 *14] 500,000
405 KHaHE SH 15,000 14,500 500
01 Tt =S F=HI 15,000 14,500 500
O+ +582I| 7Y
15,000,000 * 14| 15,000
Het=dedd 24 340,682 273,24 67,388
201 er2 3| 159,282 164,694 Ab,412
01 At2teltl 16,380 16,620 A240
OUS=ASHY ARE 79
600,000 x 12 7,200
OMBIIE B3 42
15,0002 =8I0 At 12 1,440




2A: HMEiEN
MM HFoD2}t RE(SL2Z/HS)
=Rl MSAlE #F (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Olist=sA=Z8E =4 FR1E ME
40,000 * 1241 % 123] 5,760
O&%)| dgz 40,000& *3CH*12& 1,440
OR4ZE +TAA 248
70,0003 104 A %23 140
OB7 o B3 2
100,000 *43| 400
02 S324| 142,902 148,074 N5, 172
O3222 ¥ HAl 76,800
—&IIe2 5,000,000& x12& 60,000
—&ol=E 22 250,000& «12& 3,000
—JIAR2 1,000,000& 128 12,000
—SNR3 150,000& x 128 1,800
OHEINAE o™ 22| Ol
1,000,000& x 128 12,000
OSLIIANE SR A
200,000« 12& 2,400
OAZAIL QHEBD| [t
450,000 103 4,500
OABIAE SE-YUEA
2,000,000&*13] 2,000
OAgal HSI|SHY
2,000,000 *13] 2,000
OFAEHA 2,000 *4, 500 x23| 18,000
OUE=AERY A4S
500,000& *x63] 3,000
Oust=AsE 283 84
1,000,000& 23] 2,000
OAIE&H| |Xd| 500,000& 128 6,000
ORNgdS AISE
25,000& *13CH*12& 3,900
OUE=A SR 0012 B4 B
4,000,000& *1A 4,000
OB U BYU S A 442
3,000,000& =12 3,000
O=2Ee222 AIIZAH
1,500, 000& *x2CH 3,000
OHI4gE)| fF(BR) 7L
1,510&+200 £ 302
301 LEtEXZ 31,200 41,600 A 10,400
14 J|EI2 A= 31,200 41,600 A 10,400
OZ203 AAI2(24])
40,000& *33|x260Y 31,200
401 A& HILE0HY] 125,000 55,000 70,000
01 Al&H| 125,000 55,000 70,000
OlistsA=dH AIE2 SAEs
25,000,000 x 14! 25,000




A HSAIEW
¥ Msodet PR (SR 22/H=)
&2l MSsAE B3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O P& A
25,000,000%*153 25,000
OJIAANE & HIIANE RA2
5,000,000%*1/%' 5,000
Olfgt=d2dd s4d Fitxd
35,000, 0002 =2CH 70,000
405 AHaHE = 25,200 12,000 13,200
01 It =S F=H 25,200 12,000 13,200
OUEH=ASHE & MS® 29 o &)
1,800,000 * 147K 25,200
(D)AZZHZAA TGN 2,232,000 3,712,000 1,480,000
Xl 454,000
Al 1,778,000
401 AIEHIZ SR OHYI 2,232,000 3,712,000 1,480,000
Xl 454,000
Al 1,778,000
01 Al&HI 2,232,000 3,712,000 1,480,000
OAmRZAZAA X4
2,232,000,000& 14 2,232,000
N 454,000
Al 1,778,000
2IIg SFel dEHs3Y Td(NLAZ2USIIS) 1,000,000 1,000,000
401 Al HIZ S OHbI 1,000,000 1,000,000
01 A28l 1,000,000 1,000,000
O35 s7cl dEMssE T8AMY
1,000,000,000& *14] 1,000,000
HEHSISEERE(SFH-BUSHSSR) 2,156,038 0 2,156,038
401 Al HIZL 201 2,156,038 2,156,038
01 Al&H| 2,156,038 2,156,038
OAZ=ZEAA TH(SSUTHAHA)
2,156,038,000& x 14 2,156,038
UHSHEHAE 450,000 450,000
401 Al HIYL S CHYI 450,000 450,000
01 AlZH| 450,000 450,000
Og= SIS A8
450,000,000 *14] 450,000
(Z)F2 NS 28 FHIAG (HEAY) 550,000 0 550,000
< 400,000
Al 150,000
308 XXM SO0IH 550,000 0 550,000
= 400,000
Al 150,000
08 WSEJ|A0He 2 & 550,000 0 550,000
OgZNES W 2E FHIAMY
550,000,000 * 14 550,000




FAUEL
FolTet AX(SSL2Z/HR)
SAld 25 (crel: &8
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 400,000
Al 150,000
()3 AXXZel0/2E ZEAIL(HEAY) 600,000 600,000
= 600,000
401 AlEHIZL SO 600,000 600,000
< 600,000
01 A28l 600,000 600,000
OAZXZ210/2E THA
600,000,000 *14] 600,000
== 600,000
=)= LMY =3 450,000 450,000
Jl 450,000
401 AlZHIZL SO 450,000 450,000
Jl 450,000
01 AlZ8| 450,000 450,000
O=CIMFHE L==SAt
450,000,000& *x14] 450,000
Jl 450,000
()G L2 LSt 700,000 700,000
Jl 210,000
Al 490,000
401 A2 HIRL 201 700,000 700,000
Jl 210,000
Al 490,000
01 Al&H| 700,000 700,000
QMBS LaZA
700,000,000 * 14 700,000
Il 210,000
Al 490,000
(£)RA8 g=2e 02 HOIESE O wHAY 40,000 40,000
== 20,000
Al 20,000
401 A2 HIRL R 0HbI 40,000 40,000
< 20,000
Al 20,000
01 Al&H| 40,000 40,000
ONoIE=SE &CI wH
40,000,000 *14] 40,000
= 20,000
Al 20,000
g3 x4 7,799,521 6,932,209 867,312
Il 751,126
= 316,540
Al 6,686,855
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A HSAIEW
T HFOITel DH(SILDE/HS)
=@t Msad x4 (CH9: &S1)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
307 lztol & 476,500 476,000 500
04 CIZHHAMAIRH 2 & 476,500 476,000 500
ORlde3] SF=ARIHISHE HEBHI(EXE
) 160,000,000 *14] 160,000
OHl463] S=AIRIMSUHS S2HS NE (22X
E 3%) 275,500,000 * 14 275,500
Onl463] S=AQMEUH2 SNSsw KA(
SXg ZNH) 35,000,000 * 14 35,000
ONldeal SFALH=U= It S = A&
(Ex8 %) 6,000,000 14| 6,000
FSCUMSUHAE X 369,000 364,000 5,000
307 @I2t0| & 369,000 364,000 5,000
02 QB AHANEEX 369,000 364,000 5,000
OHMie3s BSCLIMSUS I BH(EXE
o) 334,000,002 * 14! 334,000
ONe3zl B=C2UH=U 2ot &4 o
oHctal JHI(EXE )
35,000,000 %14 35,000
NI =€ MU X2 120,000 120,000
307 el2to| & 120,000 120,000
04 CIZIHAMAMH 2 & 120,000 120,000
OAIZD| E2E MU Nzl XNA(EXS
K oH) 5,000,000 +24E = 120,000
SIHNEFEAE 1,162,300 212,300 950,000
307 212+01& 262,300 212,300 50,000
02 LB HANHEE 262,300 212,300 50,000
O DHSS0 S4(2X8 )
45,000,000& x14] 45,000
OHME S| & FHAE=S SH(2XE FY)
172,000,000 *14] 172,000
OZ=2E A4S M=sUa ot 24 X (E=x
E 3%) 900,000 %102 9,000
OnMle2s] B=stdMFUH2l &It 2l X123 (
2X8 FYH) 6,300,000& *12] 6,300
ORftd ZHNY(EXE FY)
0,000 10102 30,000
402 2IZtA=01A 900,000 900,000
01 QI XHE AL E R (KM TH) 900,000 900,000
OZSHEEU 22" HH(2XE 90%)
1,000,000,000& *14{%90/100 900,000
HEHNSNAE2SIE 8,000 5,000 3,000
307 glztol & 8,000 5,000 3,000
02 LB AHE X 8,000 5,000 3,000
OMBHSNTA H4DT U A2 BF
Ot X (Ex8 HA)
800,000 %102 8,000




od
i’
oF
uJ

(2]} N@>I Ne)] OO |O O |Oo|O (@)
i slsle  |=2|2|@ s
_A_uﬁ_v <1<
=
D
81818 8|88 8 81818 818 2181(8 81818 8 818
S22 == S Sl2|e ==t Sl2|e sl2|e = S|S
E#MMM e|e|® Lo =l 318 RIR|K 88| S MR
i
RIS
21818 8l8|18|18 8 88 8|8|8|1888 8|88 8 8|8|8|8 8|8|8|18 8 88 g|g|8
22 222l 2 =22 2222 2 2 2ele =2 22|22 2|22l =2 =2 2|2
ol IS )] M~ AN O L9} O |l © — v o
Y RN IR R 8 818 & 2|8|88 8|8|8|2 ¢ 8% QNd
al
<
=4
g £ g g gdg £ g o £ g g
x x X *x X X x x x X X —
7 W 2 Bz 0 = W 5 W o W W K ol
m
o WE 98 wE wE o - g mgms  ~g
Ry <8 WEKE wE SEl | 5E_E =g BEHE S8
: S A= 8 0 g a9 S rg g e
3l ® S = S RS ) > w=
= K m = omc Ko | = ) )
I+ =) < A = ook |® 0 5O 4
=z 0 N K " | = o |= = o or %0
L| K0 — = = = 1ol iofl = =3
5 = K o ~ = of = i [nd Ok
- e _ — = = 2 IR =
= KO 10} .rw 101 uﬂ ol Ok 0fr = =) =) 1
o |® K o S N = M= o |z K g3l S 35 Km
= |R M= _ iy w_w_ 0 wﬁ Gl R OROH Hog 5 |W iy 0 RO | op By w Mio|®
F (o 2a (B |2 w & F_l_ok=xl 2= o |3 (L Fw R 2= W L ==
ol R = =m R =S wm ow X w |Elpm oL =2 = = |1 ¥ 02 2R =S om = kR e
> = |20 AR = =i =|80|mo ™ o M|m|x OF R |RI|Q0 < i (M| R)|20 o < mm|S|®
= [wis|m I |F|=(m = W oz ||| 3k M| F ﬂom%g(@m%:)@)@mzmm
O R R I P T v Y M-~ & = (oo B ® g i o (g S| |a 8§30 83 1 Q||
RV | |a)|a) M0ar|z|al|al W~ RI3 o <~jy|at|< R | Ilaijas ® W |Z|al|al RK|of|a)|a) SR RR ol &< | |a
mwisly O j0isly O O 50 aklzlg O sz © O |dlgle © |®lgleg Y 9 =9 |35
X || i | & |~ e S| il | & ol | &
O Ko = R R 20 <




A HSAIEW
Hu: HF0Tet DE(SSUATH/HS)
el MsEE &g (SH &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
04 QIZHHAMAIH 2 & 22,000 22,000 0
OAIRI AZ2DI0H3] Mzl X (EX8 ZH)
22,000,000& 13} 22,000
Fd=cIAFU=ANE 16,800 16,800
307 212t01 & 16,800 16,800
02 QB AEANSEX 1,800 1,800
OZ=2l0 24 =203 &It 24l X2 (L
=8 YY) 1,800,0002 %14 1,800
04 QIZHHAIAIRH 2 X 15,000 15,000 0
OZ=eld NFud =71Ue HE(Ex8
) 10,000,000 *13] 10,000
O2es BRI 2703 (XS FY)
5,000,000 14| 5,000
SIS X 85,000 80,000 5,000
307 21201 & 85,000 80,000 5,000
04 QIZHHAMAIH 2 & 85,000 80,000 5,000
ONIBa] S=3VI2aHl MEMSSSU=E
Y SAUS(2XS M)
17,000,000 * 14} 17,000
OHMIgal g=S)12latl d=5=2! HOIE
S0s(2X8 )
20,000,000 %14 20,000
ON13al SFSIUMTA B=S350 NS
Hal(2x8 FH) 23,000,0003*14] 23,000
OHMI48al 3012148 =5 & 0l=
HLIAOEI(2XE ZN)
25,000,000 *14] 25,000
HEHSAHEAUHSI XA 10,000 70,000 60,000
307 glztol & 10,000 70,000 60,000
04 QIZFHAMALE 22 10,000 70,000 60,000
02025 SFARNEHED IS HE(EX8
) 10,000,000& » 14 10,000
VS SSHOIALEH H=A0IZ2UE 70,000 70,000
307 212t01 & 70,000 70,000
04 QIHHAMAIH 2 £ 70,000 70,000
ORMZ7el =2IMSHESH OIAFEH 8= A
OI20H3l & 2025 OtAEZE S50 HE(E
70,000,000 *14! 70,000
==K 15,000 65,000 50,000
307 212+01& 15,000 65,000 50,000
04 QIZHHAIAIH E X 15,000 65,000 50,000
OxBal Mul=2st=EMIIE 25033l
(Bx8 ) 15,000,000 * 14} 15,000
F=cl 02N 10,000 10,000
307 elztol & 10,000 10,000
04 CIZHHAMAMH 2 & 10,000 10,000




SN HSEED
¥ Msodet PR (S 22/H=)
el MsEE &g (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEERRELEEE T PR
THI(2xs HAH)
10,000,000& » 14 10,000
H=ERUH3IXS 25,000 20,000 5,000
307 el2to| & 25,000 20,000 5,000
04 QIRHHAIAIH 2 £ 25,000 20,000 5,000
OHMl2al &St 8=2Z 2tA=E72U=l &
Higal ABMAHY MIEERUS(EXE F
o) 25,000,000 * 14! 25,000
==X 55,000 55,000
307 212+01& 55,000 55,000
04 QIZHHAIAIH E X 55,000 55,000
ORNI228] SF=AEI| B=F7U2 Kzl X2
(Ex8 FY) 55,000,000& *14| 55,000
HEN=SES=|Y 45,000 45,000 0
307 elztol & 45,000 45,000
02 2IZHBYAIHE & 45,000 45,000
OdaHs B SN (EE2E 3Y)
7,500,000 65 = 45,000
orREs0d =24 159,000 185,000 4,000
201 et 3| 19,000 15,000 4,000
02 s3=gHl 19,000 15,000 4,000
O24d ofe==01d 24 19,000
—&JIe= 7,000,000 12 7,000
— ot R 12,000,000 x1& 12,000
307 gl2to| & 125,000 125,000
02 QIZHEAAEE X 125,000 125,000
O3 0l228=s01 2H(BExs )
125,000,000 * 14! 125,000
401 AIEHIZ R HYI 15,000 15,000
01 Al&HI 15,000 15,000
=4 ORRIS=01 AdEElA 4X
15,000,000 * 14| 15,000
SFALXZY 2 (FIEEXE) 52,500 35,000 17,500
Al 7,500
= 45,000
307 gl2to| & 52,500 35,000 17,500
Al 7,500
= 45,000
03 LM EE2SHIEX 52,500 356,000 17,500
OEFEHISSAE=ZSE 29
52,500,000 * 14| 52,500
Al 7,500
= 45,000




A MEdSH
¥ Msodet PR (S 22/H=)
el Msgd X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SINAHNE (B ES) AXZEHRI(IIIEEXH) 20,000 20,000
307 elztol & 20,000 20,000
02 2B YA E X 20,000 20,000
OYFATEFLIA ATX2Y 2
20,000,000& x 14 20,000
(RS2 YSH S =X BHXN(ZSKIR) 128,928 125,172 3,756
Il 64,464
Al 64,464
307 212+01& 128,928 125,172 3,75
7l 64,464
Al 64,464
02 2B A HE L 128,928 125,172 3,756
Ool24l HEHSX Xt i
2,686,000& ~4H 122 128,928
Jl 64,464
Al 64,464
(2) LMK SA BHX(ESXIH) 290,088 281,637 8,451
Il 145,044
Al 145,044
307 21201 & 290,088 281,637 8,451
Jl 145,044
Al 145,044
02 2B HAHE L 290,088 281,637 8,451
Oget S EZA X
2,686,000 0 « 12 290,088
Jl 145,044
Al 145,044
(B)ZHLMEHFXI SR BHXI 64,464 62,586 1,878
Il 32,232
Al 32,232
307 @I2t01 & 64,464 62,586 1,878
Il 32,232
Al 32,232
02 LB HANHEE 64,464 62,586 1,878
OHofe!l M=K BRI
2,686,000& «2E « 12 64,464
Il 32,232
Al 32,232
(RNHUEHSXEX 2SEEE N2 2,132 2,132 0
) 1,066
Al 1,066
307 @120l & 2,132 2,132 0
Il 1,066
Al 1,066




A MEdSH
M HReoel AR(SSH2E/HR)
=@t Msad x4 (CH9: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
02 2IHBHAIHE £ 2,132 2,132 0
OdEMSXNA 2528z N
164,0002 x 13 *13] 2,132
Il 1,066
Al 1,066
(F)AEZ=LF0I8H X 424,620 403,200 21,420
Jl 297,234
= 38,216
Al 89,170
307 gl2to| & 424,620 403,200 21,420
Il 297,234
= 38,216
Al 89,170
05 elzt?(& = 424,620 403,200 21,420
OAZZAR0IZR X
105,000 #3372 * 122 424,620
Il 297,234
= 38,216
Al 89,170
(2)=2H2100 MAQISHE 22 203,640 211,640 /8,000
Il 142,548
Al 61,092
307 @20l & 203,640 211,640 /8,000
Jl 142,548
Al 61,092
02 QIRIHAANGER 203,640 211,640 28,000
O=2IHM=100 S=MEISHE 29
203,640,000 x14] 203,640
J| 142,548
Al 61,092
(DANZEE2SEIIRS4XE 1,736,900 1,736,900 0
= 158,000
Al 1,578,900
301 22N = 1,736,900 1,736,900 0
=S 158,000
Al 1,578,900
2=t - 2SRsS=2ds 1,736,900 1,736,900 0
ONFSERIR 2
1,736,900,000& x14] 1,736,900
< 168,000
Al 1,578,900
(S)ANZMEHSK XD EHIXI2 15,600 15,600 0
= 4,680
Al 10,920




2A:

3 X IE(2L2E/H=)
el Msgd X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 15,600 15,600 0
= 4,680
Al 10,920
02 2IZHBYAIHE X 15,600 15,600 0
OMEHSIEN DSH X2
100,000« 13 =122 15,600
=S 4,680
Al 10,920
(D) H A UEH S Xt SHI X 2,400 2,400 0
== 720
Al 1,680
307 lztol & 2,400 2,400 0
= 720
Al 1,680
02 2B YA E X 2,400 2,400 0
OZfe MEMSN=A WSHl A2
100,000 x2&* 122 2,400
= 720
Al 1,680
(D)MEHSKCA =X 13,190 16,220 A3,030
[ 3,957
Al 9,233
307 glztol & 13,190 16,220 23,030
= 3,957
Al 9,233
02 2IZHBHAIHE & 13,190 16,220 A3,030
OHEH=NEN HI2E5+g N
13,190,000 » 14 13,190
= 3,957
Al 9,233
(D)MEHSRAE2S XA 31,700 28,800 2,900
[ 6,340
Al 25,360
307 elztol & 31,700 28,800 2,900
S 6,340
Al 25,360
02 2B YA E X 31,700 28,800 2,900
OdeH=sua 24
31,700,000& x 14 31,700
= 6,340
Al 25,360
(Z)GFAMAOIRIE IR X2 274,000 234,000 40,000
< 24,000
Al 250,000




A HSAIEW
¥ Msodet PR (S 22/H=)
el Msgd X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 274,000 234,000 40,000
= 24,000
Al 250,000
04 CIZHHAMAMH 2 & 274,000 234,000 40,000
OGFAMAMOILES! N
274,000,000 x 14 274,000
=S 24,000
Al 250,000
()EopelAz=2x0/2A XA 97,680 79,200 18,480
7l 68,376
= 8,791
Al 20,513
307 @I2t01 & 97,680 79,200 18,480
Il 68,376
= 8,791
Al 20,513
05 212+ =S 97,680 79,200 18,480
OZMAAZ=2AR0ISH X
110,000 x74E 122 97,680
Il 68,376
= 8,791
Al 20,513
(S)ZHAMEM SR =X 1,080 960 120
s 324
Al 756
307 @I2t01 & 1,080 960 120
[ 324
Al 756
02 IHB A HE L 1,080 960 120
OZfe MEMSXEA 2125+ K
1,080,000 *14 1,080
= 324
Al 756
B CHI X 50,000 50,000
307 @20l & 50,000 50,000
04 QIZHHAMAIH 2 £ 50,000 50,000
ON78l S=HHIHE=ZHBRUHE(EXE
H) 50,000,000& * 14! 50,000
H=ATEHLIAHSI XA 90,000 80,000 10,000
307 glztol & 90,000 80,000 10,000
04 QIZHHAMAIRH 2 X 90,000 80,000 10,000
ORMI612l =282 d=22EH3 ¥ 2025
HE MAZEHUASEHESANI(EXE
g 90,000, 000& » 14 90,000




of
i’
oF
uJ

-

KIO

Hlw

367
367
367

A480

A480

A480

50,000
50,000
50,000

120,000
120,000
120,000

200,000

MEE
Ofl &k2h

81,298
81,298
81,298

5,520

5,520

5,520

324
324
324

Ofl &F2H

81,665
81,665
81,665

81,665

5,040
1,512
3,528

5,040

W

Al

1,512
3,528

5,040

iy

5,040

Al

1,512
3,528

H

324
162
162
324
162
162
324
324
162
162
50,000
50,000
50,000

Al
Il
Al
Il
Al
Il
Al

50,000
120,000
120,000
120,000

120,000

200,000

- SRA(E) - HIRAY

- ESS

S - B

el

ISXSX JIEt = X

307 212told

ol
20

ISXI=A JIEE =E X

_|_”.A
ol —
20 3r

A&

il

307 212t01 &

5,040,000 <14l

A&

=]

162,000& +2& %1

2|

HE2 X2
(2xg

=
=)

2|

=

3| X2

=l

307 212+01&
307 212+01™

| JH=l X

3

=8 A2
)

80 3r

50,000,000& *14]

120,

HEI| M= HE U

307 212t01™

S AZ20IH

=
-

o}

100

o)
o g

A

200,000
200,000

70,000
130,000
200,000

70,000

130,000
200,000

307 212+01™




2A: MSHED
M HsZe AE(2IL2E/H=)
el Msgd X4 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02025 Her=aEslatl d=ZE=2aU3
200,000,000& * 14! 200,000
& 70,000
Al 130,000
Aol2sE2e| (23 L2E/HS) 683,109 797,728 A109,619
S0MSHEH 2l 76,971 208,869 A131,898
=O0IMSFHE A& 70,971 202,869 A131,898
101 eI24t| 4,815 4,733 82
M IItHZ22SEx 4,815 4,733 82
O=C8xMsHEY s &Z &l
80,2403 x2H*30! 4,815
201 Ler2 | 51,156 45,836 5,320
2 SE=29| 51,156 45,836 5,320
O&=4 da)| S22
3,000,000 *1CH 3,000
OS+220| Ha fx2el
200,000 x5 2~ 1,000
ORIINE 28 DA
2,000,000 14 2,000
OJIA, &4l o2t wxl
2,000,000 14 2,000
O3 ANESEI|tEEH A =22
5,000,000& »23| 10,000
O2& ANEES HLUtEEY A =3
7,000,000 *12] 7,000
OdZH, e&dl 25 A
500,000 x5& 2,500
OMd=Zx Ea 1,000,000 *1JH A +23| 2,000
O] AZHI(BR)
1,5102 x70L*BA| 2+ 10 8,456
O2gdef A =2 100,000& *13] 100
OM=ZX =Z2ZA =22
100,000& 12| 100
Odl Egef HI1EE & B
2,000,000 *2CH 4,000
OdfH &= 99A 1,000,000 23| 2,000
O2AIE A& szl
2,000,000 *1JH 2 2,000
OdJ| Rotedl 22EZ
5,000,000& x14! 5,000
401 A& B2 20HL| 15,000 135,000 120,000
01 AlEHI 15,000 135,000 A120,000
OZHSHEH E4 HLHEI| LHA H
e 3 WA 15 , 0003 %14 15,000
HEXS2 Ald2e| 6,000 6,000
201 B2 AL| 6,000 6,000 0




2A: MSHED
HE: ADIS SRR (2EUL/HS)
&el: ZCIXMSHH 2el (Cre|: ®M2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02 E324H| 6,000 6,000 0
OHMINE SXE> 2,000,000 =14 2,000
OJIH, &4l & sXi&2|
500,000 27 A 1,000
OdA== RAl2el 3,000,000 14 3,000
MSAL22] 611,138 588,859 22,279
AN 2SE 2| 582,658 580,379 2,279
101 QI t| 44,134 42,755 1,379
M IIHZ22SEs 44,134 42,755 1,379
OARI2sE edFh| 4134
=Jl23 80,240 »2Z 210 33,701
-5 80,2403 x2H 44 7,062
—AXRESHFI=E
80,2403 x2H 21 3,371
201 L2 | 372,904 375,404 A2,500
01 ArR2eltl 13,760 13,760 0
OstEaEs 7Y
100,000 12 x50 A 6,000
OoMgDISEN=SE L
1,880 2001+ 150 5,640
OAlgl2sE =0 ¢
70,0003 *35 62| 1,260
OABI2sE F=)| dE|
30,000+ 12& 360
OJI2H 22 HE Y
100,000& x5 500
02 324l 359, 144 361,644 22,500
OdelHIoOIeH SAI2tel CHEl
250,000& x2CH*12& 6,000
OAagordae| HdHsX2el 19,920
—SE3LEZ 1,000,000 *6H 2 6,000
—&=sJsE8d 1,000,000 *6IH 2~ 6,000
-3 &4 110,0002 61 2+ 123 7,920
OAZAILHHl RXI22
1,800,000 14! 1,800
OYSBANE FRNE= 2,400,000 *14] 2,400
O=FgJ|&E d&et 28 wH
500,000 x5& 2,500
OXI|&H 22 uAl 100,000& *205 2,000
Od3tl B2 |SXl2te
1,000,000 14! 1,000
Od3attf =l 2,000& *2,000kg*2 8,000
Odd=4 B dESH(AUSSR)
1,350 *2,000L+5& 13,500
O= - HEA DAXEHDI| FX2tel
1,000,000 14! 1,000




A MSIED
M A2sdAe(S2L22/ M=)
Rl MsAIZ2e EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Oxd+ oAz 9 dzze
4,500,000 *13] 4,500
O3t 4 F==tf2t 2t
200, 0002 #44! 800
ONsea ¥ RERZ
50,0003 *12& 600
OANRI2sE HIIes 241,200
— e 16,500,000 * 122 198,000
— et e 2,000,000& =128 24,000
— 0™ 1,500,000& =123 18,000
—JI2S 100,000& *12& 1,200
O&EI14Hl ZIIZAt 1,500,000 *13] 1,500
o4+ 23 2,500,000& = 12& 30,000
OREYS AIBZ2 34,1003« 128 410
(OFN-UeIFSE=hella] 50,000& *13] 50
Od&Ed|=0el Hal] 100,000& *12] 100
=2l Halh| 36,000& 12 36
OXtE HI14dl EI1ZA
2,000,000 14! 2,000
Odsill 22 100,000& *123] 100
OANEI2SE A5 Y
36,000& x43|x 12& 1,728
ONPI2SE B4 (3
4,000,000& 23] 8,000
OJIHIdHl 8= &3
9,000,000& » 14! 9,000
O33MESAIE 0|85 &
1,000,000 14! 1,000
206 M= 4l 6,120 6,120
01 =l 6,120 6,120
O=&J1% &fjzels8 2+
10,0002 100 1,000
OxZIIF D22 S 7
86,0003 x35*400H 720
OAld2ze] &5 +
10,000 x20E*43] 800
OTUAIIE T
7003 +500&H 6 2,100
getzs 1Y 30,0002 *50£ 1,500
401 AIEHIZL 28I 152,000 142,000 10,000
01 Al&Hl 152,000 142,000 10,000
OZ2IIE WU HIE, B2 U 24|
14,000,000 & 14! 14,000
OANCI2SE AIE2 /Al B+
14,000,000 57 A 70,000




2A:

M AQ2SH2C (2L 2Z/MK)
Rl MsAIZ2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZJHS3Z A2 R 24
8,000,000& *14] 8,000
ONRIREN ZaZIIT ST 25
20,000,000& * 14! 20,000
OANRIZSE LH ZXX &K, ®BF
20,000,000 *14{ 20,000
OA2IZ2SE =SHID| &
20,000,000& x 14 20,000
405 AtatE = 7,500 14,100 26,600
01 ML ESFSHI 7,500 14,100 26,600
ONQISEE HILIAZ AT 72
1,500,000 *5CH 7,500
MEHS AL 2t 28,480 8,480 20,000
201 B2t 8,480 8,480 0
® 2=2ZH| 8,480 8,480 0
OMBHS MIILH RX P4
1,500,000 *23] 3,000
OdgH=2 JIA, £l 2 R 2=+
1,000,0002 %14 1,000
OdgEN=2 A= &Y
1,000,000 #22] 2,000
OF3E F4 12,0001 %40 480
ONEHS 2A52 R 22
2,000,000& %14 2,000
401 Al HIZ S OHbI 20,000 20,000
01 AlZ2H| 20,000 20,000
OdaH =2 OIRHIE HESA
20,000,000& * 14! 20,000
HH2IBIHI(MFYSI)(OIEHIIE) 128,564 149,274 220,710
=38l 128,564 149,274 A20,710
Jl=23H| 128,564 149,274 A20,710
201 er23| 53,084 56,754 23,670
01 AtR2t2|HI 53,084 56,754 23,670
OSAEA 7Y
20,0002 192t A% 123 4,560
OEZ20HA!HI 9,000 *7A1x19E «12& 14,364
Ooggte=g 100,000& ~12& 1,200
OARE EX7LHI 50,0002 12 600
OarL2=4H| 8,180
—SADI(UE) =2l
1,000,000 1CH 1,000
—IElEI| +2
100,000& *4CH+50/100 200
—=SAD| EY 200,000 52| *1CH 1,000
—ZRIEDI(SY) &Y
200,000 52| *4CH 4,000




2A:

H=&E%

M HYRAZHI(MFISW)(OIE/IIE
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZelEl(2e) &
200,000 +52]*1CH 1,000
—PC #=cl 100, 0002 *19CH*20/100 380
—JIEt ==ClHl 50,0002 122 600
OJIEH At 2t IH]
10,0003 19~ 123 2,280
ogx+d 21,900
— SN AUSYE)
60,0002« 12 *3652 21,900
202 04| 70,680 87,120 16,440
01 =LHOLI 70,680 87,120 16,440
OZLH0iH] 20,0002 x 19 x 122« 12& 54,720
o220l 120,0002 x 198 »7 15,960
203 HR=H| 3,600 4,200 A600
MU A2 LRFAI 3,600 4,200 A600
ORANEgg =AY
300,000 * 12 3,600
204 MR AH| 1,200 1,200
01 MG HP=HAHH| 1,200 1,200
OXMIA2LHAY| (NS S V)
100,000&x 1 =123 1,200




